5.1

(degradation)
Intrinsic Viscosity
8 X105 1 X106 60
! (My) 180,269 5.1
60
2.5 10
10, 20, 30, 40, 60, 80, 100, 110 120
(My) Dilute Solution Viscosity
5.1
0-30
30-120 5.1
5.2
amorphous region
amorphous region crystalline
region crystalline

region



Mv(Da)

6.1

ZmDII

180000
160000
140000

80000

60000
40000

2.5

60

D
S
T

+ + o+

180,269
80,896
59,003
39,394
33,406
21,853
20,660
9,460

8,388

4,682



Amorphous region

5.1
30
39,394
60
2.5
5.2
3.1
Doyield,
1

89

Crystalline region

Amorphous region Crystalline
40,000 8,000
60
2.5
40,000
110
8,388
8,000
' 40,000
A4 41T
(M)
5.2
0.75

21.95



90

1 2 4
X,
Z 12 4
1 57.70, 50.60 48.80
Y Z
X
YL (Mv= 47,776 ) 2 (M=49,683)
x(Mv = 45,939)
xl
1 %yield X2 16.50
43,910 1
1
1 2 4 1
2 4
40,000

40,000



5.0  Shyield, (M

1 2
% yield (My) .% (M
NaOH (%) () NaOH (%) Vel ()
0.75 1 2195 60,138+2133 1= (++++4) 1.00 2 1650 43910+ 9729
1.00 X 5770 4593946670 Xi= (+)
2.00 v 5060 4777645724 M= (*4)
4.00 A 4880 49683 +6867 A= (+ )

2 1%NaOH . "



5.3

1 10 15
2
5, 10, 20 30

15

5.3

%yield 21.40
65,134

2 5

C 46,759

Ooyield

1
10
15
2
10
5
( )
42,835
53.45

40,000

4.15 4.16

% yield

10

54

abc
2 ( a)

%yield

58,777
2
%yield

2

92

20
58.40

30



10

5.3

vval
vuhbl
vvcl

vvdl

10

0.048
0.044
0.052
0.039

5.2
1 15
abe d
%yield
1%NaOH
% yield
)
2.40 "
2.20 -
2.60 Wei

1.95 il

93

2 5. '
ABeu D
1
1
1 10 15
15
% yield
()
0.132 6.60
0.125 6.25
0.110 5.50
0.128 6.40



5.4 , Yoyield,
2 1%NaOH
1 10
1%NaOH
(mi)
Q 5
Wi 10
Q 20

wa 30

% yield

21.40
47.20
58.40
53.45

(M
d

5 10, 20

65,134
58,777
42,835
46,759

30

(M)

1%NaOH

(++++4)
(+++)

(*)

P



55  Yoyield,

2 19%NaOH
1 15
1%NaOH

(mi)
WA 5
) 10
20
02 30

(My

A BC 5 10, 20

% yield
(

19.45 60,468
44.10 50,239
59.95 37,100
54,35 44,540

30

(MJ

1%NaOH

(+++4)

(+++)

(*)



5.6

O o

ABC

% yield

1
5.6

%yield

10

15

%
yield
21.40
47.20
58.40
53.45

5.6

10

10

10

1% Na0

(
65,134

58,777
42,835
46,759

H

ahc

15

15

1%NaOH

O O w >

96

(
60,468

50,239
37,100
44,540

abec

ABC

(W)

)



(Precipitant)
40,000
2.5 (
C 3.2
40,000
423 41737
40,000
3.2)
20:50:10 1
20 1

97

60

10 %whv) 30

1%NaOH

2

40,000
42,835

1%NaOH

40,000
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54 8,000
8,000
40,000
8,000
(OP)
8,000
60
&9 ( 10 %wiv ) 110
413 41 8,388
1
40,000 12,3 4 34
1 1
40, 45 150 60
2
1
40
1
10
4.2

1 40, 45, 50 60



5.1

= =2 =

1%NaOH
(ml)
40
45
50
60

, Y%yield,

% yield

0.450
10.32
2145
21.55

(MY

il

21=

4

1
LEREERERERE)

(++++t+t+4)
(t+++t+14)
CERERER)



5.8

S 8B 8BS

, Y%yield,

1%NaOH % yield

(mi)
140 28.58
1 45 11.82
50 6.20
60 4.65

(M

15,862
13,625
1,915
4,938



= Lo N

NaOH 40 ml)

'5.9

a

4

2,3

5.8

5.9

%yield

% yield

0.450
10.32
2145
21.55

12

»

5.7
4.2
1
2
My
)
D
2

% yield

28.58
11.82
6.20
4.65

101

2, 3 4

2,3



8,000

8,000
60
10 %wiv ) 110
3 3.4
%yield 6.20%
%yield 5.65%
40:100:50 1
10
8,000
55
1

102

8,000

25 (
8,000
7,915
8,000
423 8416
3 3.4)
19%NaOH 1

1%NaOH 40
pH

8,000 %yield

10,000
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